		er hour k low the r	
		nce trav	

7) A train averages 40 miles per hour between two cities. Use a chart to show the relationship between the time and distance traveled.

Rate	Time (hrs)	Distance	ě	
40	1	40		
40	2	80	·	S. J.
40	3	120		
40	4	160		

How can we use this information to create a equation?

Look at the key idea on your notes page.



Distance Formula

Words To find the distance traveled d, multiply the speed r by the time t.

Algebra d = rt

7) A train averages 40 miles per hour between two cities. Use a chart to show the relationship between the time and distance traveled.

				• ••
Rate	Time (hrs)	Distance	d=rt	
40	1	40		
40	2	80		
40	3	120	345) 2	
40	4	160		

A train averages 40 miles per hour between two cities. Use a chart to show the relationship between the time and distance traveled.

Rate	Time (hrs)	Distance	d=rt	Ordered Pair (t, d)
40	1	40	d = 40(1)	(1, 40)
40	2	80	d = 40 (2)	(2, 80)
40	3	120	d = 40 (3)	(3, 120)
40	4	160	d = 40 (4)	(4, 160)

